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-t 48,1002 x4 H«7& 1,347
-= &l 140,0003 x4 & +83 4,480
pani=tsl 50,0002 x4 H+82 1,600
-SE S0l 500,000 x4 H*13] 2,000
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[ 450,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S0 E0ISHHE A& HAZA 3,000
A0Lis S LAY 54 10,000
202 04| 3,000 3,000
01 2L AL 3,000 3,000
o SSA GRFA =L 3,000
401 AIEHIZ SR 0HYI 10,000 10,000
01 Al&H| 10,000 10,000
S HOHIO=E HaHAIH R 10,000
LAY X=3t AEXIR(CHE) (HEALY 140,290 111,690 28,600
= 116,440
Al 23,850
402 2I2FX=01 & 140,290 111,690 28,600
= 116,440
Al 23,850
02 QI XHE AL E R (01X THE) 140,290 111,690 28,600
LAY NSSAE £X 140,290
== 116,440
Al 23,850
AR ESAE 2L 60,000 60,000 0
= 60,000
402 2I2F X201 & 60,000 60,000 0
= 60,000
02 QI X2 AL EE(OIETHE) 60,000 60,000 0
N2 e X 60,000
= 60,000
I REES 50,000 121,260 AT1,260
= 15,000
== 10,000
Al 25,000
401 AIEHIZ R HYI 50,000 0 50,000
= 15,000
= 10,000
Al 25,000
01 A28l 50,000 0 50,000
HAEIZS 22 Xl 50,000
= 15,000
= 10,000
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SAeE SgXE 100,000 116,660 16,660
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Al 70,000
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= 24,000
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402 IZHAHE 01 80,000 121,530 A41,530
= 24,000
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02 BIINHZ A2 E (ORI ) 80,000 121,530 A41,530
e MATI 80.000
= 24,000
Al 56,000
LH4=01 QAIT DIBHAIE (B X) 23,760 38,000 A 14,240
= 7,128
Al 16,632
402 BIZHAHE 01 23,760 38,000 A 14,240
= 7.128
Al 16,632
02 SIRIXHE AL 2 X (ORI ) 23,760 38,000 A14,240
L2t QAR JJEhAl & 23,760
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Al 16,632
U0l 225X 25 53,100 17,000 36,100
= 15,930
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206 MHZH 53,100 17,000 3,100
= 15,930
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3 15,930
Al 37,170
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Al 21,000
OHA DS 2AIZ AIEDITH 2 24E XA 89,080 33,340 55,740
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& 12,000
Al 28,000
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= 120,000
& 8,000
Al 32,000
403 REXISHHIS K201 & 160,000 0 160,000
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